Numeracy 25.6.20

I would like you all to work through as many of the questions as you can below - FIND THE MISSING NUMBER.

Today there is a focus on the 4 operations again (addition, subtraction, multiplying and dividing)

When you have completed what you can manage use online websites and your timetable squares to help you practise what operation you find most tricky!
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Find the Missing Number

1)20-N =2 N=___ 2) Nx15 =150
3)N-12 =4 N=___ 4)Nx16 =272
5) 124N =22 N=__ 6)N=+12 =14
7)12+4N =382 N=___ 8)12+N =26
9)19xN =304 N=___ 10) N+12 =12
11)N-11 =9 =____ 12) Nx20 =200
13) N+19 =37 =____ 14) N+18 =37
15) 323+ N =19 =____ 16) 16-N =4

17) N+ 14 =28 =____ 18) 15x N =240
19)N+12 =15 N=___ 20) N+19 =14
21) Nx10 =190 =___ 2)N+11 =10
23) 177+N =30 N=____ 24) N-10 =1

25) Nx17 =204 =__ 26) N+19 =34
27) N+20 =14 =___ 28) Nx13 =143

29) N-16 =4 N= 30)N-11 =2
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